% 8 6 M HASHFZEREFHEKABRRRE

BARAASRAR—YTSHHA LT 1) —F

EB AR

#%HNo. 66 TF 100m FikE RE 138 EiXE08%  1:05.88

_ _ £ 1:07.71
G  #/k I B K 4 S E-3 P FOER (RT.)

50m

1 /4 F M 5 B N 00 =3 32.02 1:07.41 X&%H (0.59)
2 /3 K B &=k FE#EHRREZ 03 =1 33.33 1:09.97 ( 0.66)
3 /5B X #Hiir ki HREHFE 01 =2 33.54 1:10.12 ( 0.63)
4 1/6 % E£ KK =Xk ERERR 00 =3 33.77 1:10.94 ( 0.63)
5 /7 #=)| FH E=F ERNEIN 00 =3 33.66 1:11.14 ( 0.66)
6 /1 K B GERGRR ST 8 K B 02 =1 33.66 1:11.33 ( 0.62)
7 /2 & E @B #% —HNE 01 =2 33.48 1:11.54 ( 0.63)
8 /8 B 5 Rk &= FERERAPER 01 =3 33.68 1:11.85 ( 0.69)

SEIKO Page: 1/1 Printing: 2018/08/19 15:53:08



